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% H i | (3) Bk B T4 4k 2,424 1,663 761 A 41 23 763 16
ERRERISE (4 H g 1,523 1,364 159 A 8 28 186 A 47
it 1 6,891 1 5,784 0 1,107 A 49 107 0 1,051 A 2
(2) & Kt 17,286 20,792 A 3,506 0 200 A 3,694 A 12
I R BR|(3)RE T % 9,669 12,304 A 2,635 A 244 83 A 2,136 A 338
S (O E - 9,172 10,595 A 1,423 A 48 102 A 1,955 478
Z 4 36,127 5 43,691 | A1l A 7,564 A 292 385 o] A 7,785 128
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% N NS ¢ K AE Al 4 b= I 5 14 54 ei FH
X o | ANBl TEE [ ANB| TEE | ANB| TEE |B 5 & E|H falee H OB kW B B #hlE o fit
(2) & Bl 3,727 4,873 A 1,146 0 257 A 1,152 A 251
Hi I BR R 3| (3) B T4 %% 2,081 3,676 A 1,595 A 51 106 A 1,474 A 176
Boal o2 @k ¥ % 1,713 2,495 A 782 A 10 132 A 944 40
it 1 7,621 1 11,044 0| A 3,523 A 61 495 ol A 3,570 A 387
(2) & kt 3,263 3,181 82 0 83 A 1
i 5 K E[(3) e F Y% 1,553 1,558 A5 A 43 34 4
¥Rl & BH @k ¥ B 1,495 1,479 16 A 8 39 A 15
it 1 6,311 1 6,218 0 93 A 51 156 0 0 A 12
(2) #& kt 9,767 9,477 290 0 291 A 1
T oK JE|(3)WE T M 6,742 6,682 60 A 137 120 77
HE S F@E B OB 4,732 4,616 116 A 26 142 0
it 3 21,241 3 20,775 0 466 A 163 553 0 0 76
(2) & kt 11,108 9,810 1,298 0 150 1,049 99
ok B )R TN 6,402 6,248 154 A 155 62 481 A 234
HE S F@WE B OB 5,441 4,641 800 A 31 71 632 128
it 3 22,951 3 20,699 0 2,252 A 186 283 0 2,162 A7
(2) & kt 557,688 541,580 16,108 0 8,048 21,630 A 13,570
NS BE|(3) B T % 304,902 293,706 11,196] A 7,489 3,323 15,774 A 412
HE S F@WE B OB 244,984 234,504 10,480 A 1,291 3,485 9,920 A 1,634
it 112 [1,107,574 | 113 (1,069,790 | A 1 37,784 A 8,780 14,856 47,324 0] A 15,616
(2) #& kl 1,323,376 1,271,111 52,265 0 24,704 21,095 0 6,466
& FH ) B T4 750,703 731,857 18,846] A 17,562 10,200 13,375 0 12,833
(ENEEPI[(@QIH & 696,912 637,828 59,084 A 3,247 12,698 8,298 0 41,335
it 314 2,770,991 | 312 2,640,796 2 130,195 A 20,809 47,602 42,768 0 60,634




7 ITHREAMRBERNRER

(15) FMAFERHFEIABARERNRER

- HHESE #art SREM LR #a* HREM
& S A% A% A%E BFE % 5 A% A% A%E B A

1 [BAXBHRE 1 73| 220,600 199,251 1 73| 220,600 199,251
2 |BEESREHF 1 65| 211,300 1 65| 211,300
3 (Bl HBKE 1 61| 206,300 186,335 1 61| 206,300 186,335
4 |BRIFESR 1 50| 190,400 8,189 1 50| 190,400 8,189
5 |ffEXIER 1 52| 193,900 1 52| 193,900
6 |BEXIELUI—IEEE 1 49| 188,700 170,438 1 49| 188,700 170,438
7 | EEFBHEETR (Y — 1 49| 188,700 170,438 1 49| 188,700 170,438
8 | SBHILEFEABRIEER 1 49| 188,700| 170,438 1 49| 188,700 170,438
9 [RO—ISATTRIRAHF— 1 49| 188,700 170,438 1 49| 188,700 170,438
10| EEMREEREXIER 1 47| 185,500 1,139 1 47| 185,500 1,139
1M|EEREEEE 1 47| 185500 1,139 1 47| 185,500 1,139
12 | SRk 1 45 182,200 7,836 1 53| 195,500 8,408
13| MRERREXIES 1 44| 179,600 1,103 1 44| 179,600 1,108
14| REEXE 1 44( 179,600 1,103 1 44| 179,600 1,103
15| REXIEE-EEER 1 44( 179,600 1,103 1 44| 179,600 1,103
16 | EE4EHIRATEE 1 41 171,700| 155,083 1 41 171,700 155,083
17|EBRFBERE 1 40( 170,400 7,329 1 44| 179,600 7,724
18|BREMEEE 1 40( 170,400 7,329 1 44| 179,600 7,724
19| AEEHHFEES 1 40| 170,400 7,329 1 44| 179,600 7,724
20 |RIERERER 1 40| 170,400 7,329 1 44| 179,600 7,724
21 |SHBABE B 1 40| 170,400 1 44| 179,600
2|REL 1 38| 167,400 7,200 1,028 1 45 182,200 7,836 1,119
23| REREL 1 38| 167,400 1,028 1 45| 182,200 1,119
U [ FETXELV S —BE 1 36| 164,700 7,083 1 43| 177,000 7,612
25 B RYR—F RT LYR—K)—5— 1 36| 164,700 1,011 1 43| 177,000 1,087
26 | REWBEUI—HES 1 36| 164,700 7,083 1 36| 164,700 7,083
27|ERXIEE 1 35 163,100 1,002 1 42| 174,400 1,071
28| RERER 1 37| 165,900 1,019 1 44| 179,600 1,103
29 |#EBNE 1 34| 161,600 992 1 34| 161,600 992
30|HEEV2—RER 1 32| 158,900 6,834 1 36| 164,700 7,083
31 AR BV A—EEFES 1 44| 179,600 7,724 1 44| 179,600 7,724
2 | BERHHERE 1 29| 154,900 951 1 29| 154,900 951
33 |BISEE 8 (RISEHHE) 1 29| 154,900 951 1 29| 154,900 951
34| ILA BRI N—MEER 1 29| 154,900 951 1 29| 154,900 951
35|REA 1 29| 154,900 951 1 29| 154,900 951
36 |BERRBE 1 29| 154,900 6,662 1 29| 154,900 6,662
37| 3BSLERFEERE 1 29| 154,900 951 1 29| 154,900 951
38 |HEERE 1 28| 153,900 1 36| 164,700
39| BHBE 1 21| 146,100 6,283 1 29| 154,900 6,662
40 |EFHBA 1 21 146,100 897 1 29| 154,900 951
41 | BB 1 21| 146,100 6,283 1 29| 154,900 6,662
42|CSaA—TAR—H— 1 21| 146,100 6,283 1 29| 154,900 6,662
43| EBIEXER 1 21| 146,100 6,283 1 25| 150,600 6,477
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4 ERBIGHRE (2) BIERIEER

- HiEEE ¥ SREN LR oy SREN
& 5 A% A% B%5 BHA #& S A% =k =k BFG
wEREEL 1 4| 155,200 953 1 12| 168,200 1,033
*EL 1 4| 155200 6,675 1 12| 168,200 7,234
) ERBIGH SR () BB EER
- HiEEE ¥ SREN LR ey SREN
& S A% A% B%5 BHA #& S A% =k B%8 BFG
{RIEAD 1 20 197,300 1,212 2 19| 223,700 1,374
BhEEEm 1 20| 197,300 8,486 2 19 223,700 9,621
NERRDERESR 1 20 197,300 1,212 1 20 197,300 1,212
I Z0it
- EHSE % A LR #aFt SREN
% 5& A& A% B%8 BHA & S A% A% B%8 B G
SEFE (EEREHF) 300,000| 270,967 300,000 270,967
AT 78— SREN
75 XHaEE BE |BREH
- BE |onmwE] 8@ | Be
YRRUVBREEFEDOETR (B FICKRBIEEOEBITHET .
BEETRERA 1R 1 2807 L e R
P ——— Py, = HfEE
HEEREE §E§§§?Z§g{ﬁf§%§ﬁfhf;s’zfp?h‘1t§tbfi“aa>¥ e [T 20319| T00| 1773
P ————— y = % s SEEH B
tgﬁfﬁébjﬁi?ﬁ%hﬁ%%uﬁ$¢6tﬁﬁ HEIDBIZK EineR SELE | 20,900 100 18.245
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(16) IEF I HAD K ZRFE DM D%

WA WM OFE (N 3AEELD) | R O %E (N 4 4R D) SETHA
REEZERRR H#%E 64, 700 H%E 64,700/
REZE DRGNS A% 47,700 H%E 47,7001
REEZERETR H#%E  41,500H A% 41,500M
BEZERHBTRMGRATE A% 47,7001 A% 47,7004
BEZEERZEER H#%E 41,500 H#%E 41,500
NPEEREZEAR H%E 7,400 H%E 7,400H
NEEERZER H%H 6,800 A% 6,800
REEEEE H%E 142,000/ H#%E 142,000/
EAZA A% 71,000/ H%8 71,000/
EEEEEFEAEZRRER H%4 6,500 H%4 6,500
BEFHEERELAR A% 7,400 A% 7,400
BREREBERER H%H 6,800 H%4 6,800H
= R AR pOEE g e R B H%E 3,300 A% 3,300
HEBEER H%E 3, 300H H%4 3,300
AR—VHEHETZ B H%E 3,300 A% 3,300
RAZEHBERZR H%E 3, 300H H%4 3,300
Pisk=igZ A H%E 3,300 A% 3,300
ERcEERZR H%E 3, 300H H%4 3,300
TEAREERZER H%E 3,300 A% 3,300
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ADN - & 2 B 9 2 i ~
HAL ABIF AP RASTH
N LTI Hi
W A i *=
5| 7 oEw 5| 7 oEw B | 7 oE o

Em A 312| 2,711,999 309| 2,624,632 3 87,367
£ R 2 11,950 3 16,164] A1 A 4,214
SRR A AL
RS 32 123,126 28 108,032 4 15,094
SRR £ AL
ARG 279 480,772 287 457,209] A8 23,563
I 161,907 158,815 3,002 |23k 4R ALY
CRUNIEERE g A 65,021 A 64,927 A 94

it 625 3,424,733 627  3,299,925| A2 124,808






